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There is - There are
3 Underline the correct answers.

1. There is/are one candy.

2. There is/are four drums.

3. There is/are three roses.

4. There is/are one hippo.

5. There is/are three dresses.

6. There is/are one doll.

7. There is/are two cars.

8. There is/are one pear.

9. There is/are six shells.

10. There is/are four bears.

11. There is/are two umbrellas.
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There is - There are
3 Underline the correct answers.

1. There is/are one piece of candy.

2. There is/are four drums.

3. There is/are three roses.

4. There is/are one hippo.

5. There is/are three dresses.

6. There is/are one doll.

7. There is/are two cars.

8. There is/are one pear.

9. There is/are six shells.

10. There is/are four bears.

11. There is/are two umbrellas.
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